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PROBLEMA 2: DIAGNOSTICO DE DIABETES MELLITUS 2 

 

 

FORMULAS RESULTADO 

*SENSIBILIDAD: 

A/ (A+C) 

 

  1000 / (1000 + 500) = 0.666 x 100 = 66.6%  

 

*ESPECIFICIDAD 

D/(B+D) 

 

850/ (350 + 850) = 0.708 x 100 = 70.8% 

*VP+ 

A/(A+B) 

 

1000 / (1000 + 350) =0.74  x 100 = 74% 

 

*VP- 

D/(C+D) 

 

850 / (500 + 850) = 0.629 x 100 = 62.9% 

 

*PREVALENCIA 

A + C / (A + B + C + D) 

 

1000 + 500 (1000+ 350+ 500 + 850)= 0.555 x 100 = 55.5% 

 

*EXACTITUD 

A + D / (A + B + C + D) 

 

1000+850 (1000 + 350 + 500 + 850)=0.685  X 100 = 68.5% 


